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Question Topic Marks Minutes 

1 Inventory Systems 46 28 

2 Projected Income Statement 54 32 
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QUESTION 1              (46 Marks, 28 Minutes) 
 
INVENTORY SYSTEMS 
 
1.1.1   

Purchases 

2019 
Feb 

28 Bank 215 500 
2019 
Feb 

28 Drawings 18 500 

  
Creditors 
Control 

163 600   
Creditors 
Control 

10 300 

      Donation 8 000 

      
Trading 
Account 

342 300 

   379 100    379 100 

        
 

 
 
 
 
 
 
 
 
 
 
 

(14) 

  
1.1.2   

Sales 

2019 
Feb 

28 
Debtors 
Allowances 

7 600 
2019 
Feb 

28 Bank 296 000 

  
Trading 
Account 

649 800   
Debtors 
Control 

361 400 

   657 400    657 400 

        
 

 
 
 
 
 
 
 
 
(10) 

  
1.1.3   

Trading Account 

2018 
Mar 

1 Opening Stock 248 900 
2019 
Feb 

28 Sales 649 800 

2019 
Feb 

28 Purchases  342 300   Closing Stock 236 800 

  
Carriage on 
Purchases 

22 400     

  Profit and Loss 273 000     

   886 600    886 600 

        
 

 
 
 
 
 
 
 
 
 
 
 
(14) 
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1.2 Zandile Zulu is concerned about the increase of shop-lifting within her business.  She 

has heard that businesses that implement the perpetual inventory system find it easier 
to detect theft.  Explain why this is so, as well as how theft can be detected using the 
perpetual stock system.    

 

  In the periodic inventory system, there is not a continuous record of the stock that is 
on hand at any one time.    

 It is therefore nearly impossible to check actual stock levels after a stock take with 
the accounting records to determine if theft has taken place.  

 The perpetual inventory system keeps an accurate record of stock on hand at all 
times.    

 The stock records can therefore be compared to the actual stock take to determine 
the amount of theft that has occurred. 

 
 
 
 
 
 
(8) 

 
 
 
QUESTION 2                       (54 Marks, 32 Minutes) 
 

PROJECTED INCOME STATEMENT 

 
2.1 Explain the difference between a Cash Budget and  Projected Income Statement.  
 

Cash 
Budget 

Includes the predicted inflows and outflows of cash in order to 
predict the bank balances during each month of the budget 
period. 

Projected 
Income 
Statement 

Contains all the expected incomes and expenses during the 
budgeted period in order to show the predicted monthly net 
profit. 

 

 
 
 
 
 

(4) 

 
 

  

2.2 Debtors Collection Schedule fir June to August 2019.  
 

 
Credit 
Sales 

June  
2019 

July  
2019 

August 
2019 

May 2019 91 400 41 130   

June 2019 96 000 45 600 43 200   

July 2019    (40% of total sales) 100 800  47 880 45 360 

August 2019     (2.3Ax40%)   105 840   50 274 

  86 730 91 080 95 634 
 

 
 
 
 
 
 
 
 
 

(16) 
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2.3 

 Calculations Answer 

A 252 000  X 105/ 100  264 600 

B 252 000 X 100/160  157 500 

C 264 600 X 100/160   165 375 

D 91 400  X 5%  4 570 

E 96 000  X 5% 4 800 

F 
31 000 – 15 000 = 16 000 / 2 = 8 000  
8 000 x 3  = 24 000 + 15 000 

39 000 

G 6 760 + 200 6 960 

H 252 000 X 3%  7 560 

I 264 000 X 3% 7 938 

J 
126 000 + 60 000 =  186 000 X 1/12 

OR 60 000 X 20% X 1/12 = 1 000 + 2 100 
3 100 

K 
210 000 – 60 000 = 150 000 X 5% X 1/12 

OR 875 - 250 
625 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

(34) 

 

 

 

 

 
         TOTAL MARKS:  100 
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